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1. Wﬁmﬁ[ﬂwmmﬁ%ﬁw: 1x8=8
Choose the correct &nswer from the '
following :

(a) T 7o ER AR T ?
Which of the following is not the
characteristic of urban society?

() T |/ Business

(i) et / Transportation

(i) IR/ Agriculture

g Over)
P16/425 (Term



(b)

()
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(2)

SRR SR BT Ly 2'e

One characteristi i i
o teristic of industrial society

i) =R R
we feeling

(i) T B
mechanical life

(i) SR e Ty

None of the above

Social Chq

n'ge in Mod .
W ERE 9 em India NS
whO is the

MOdem India?

( Continued)

(3)

(d) T8 ‘caste’ RO F'I R A ==

?

Where does the English word ‘caste
come from? .

() TN
Portuguese

(i) ¢
Latin

(i) SR «BIS T

None of the above

(e) oRd TS AgF B
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Dowry in Indian society is a

(i) e e

social problem

(ii) TGS T

psychological problem

(iii) ARATE T

political problem

( Turn over)
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(4)

AR m
SR 2 PR R eoige

€ distinction between crime and

delinquen
Cy m .
basis of ay be determined on the

i) =g
birth
(i) I

age

(i) . q
K. M. Kapadia

( Continued)
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2 wﬁ@mvﬁ%‘ﬁwcﬁmm(am 150
] f5o90) :

Write short notes on any four of the following
(within 150 words each) :

(@) S e CAREPRR

(5)

(h) ST - SRYRAR SR P ?

Who is the propounder of the concept
‘Sanskritization’?

It]] w3, Il

I. Karve

(i) <. <. S

M. N. Srinivas

(i) 1. @%. oy
P. H. Prabhu

4x4=16

Characteristics of industrial society

wE @] T
Problems of aged

() uifs sl

Caste dynamics
( Turn OV€" )

%
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(@) =g =Raw
IS PSR AR
Impact of Westernizati D () IS 24R caFErER R 2 TG TN IS
family system | oon fn modern oo RIS FAPHN R i1 6+8=14
What are the characteristics of caste
(e) YRR system? Write about the factors that
U SRR
SIOR TR Sigeea bring change in caste system in

petzgizmzanon and lifestyle of Indian contemporary India.
(d) SHeIHS ATl PR €O Q3 o T 14

Write an essay on unemployment

3. =R
I BIRBI 2poq i
W@ : - o o ( 500 problems in India.
Answer gan
y fOur .
500 words cacty . o ons  (within () wgfdmam e S CGRIats
. (aPEPTR Sceo 9 ‘ 4+10=14

(@) &R .
N RS G I s .
R SRS Define modernization. Discuss the

R (7 | -7y R
s 54T forsr o PR R characteristics of modernization.
4+10=14

ribal Socj i
on socio- OClety. Write an essay * kok

. €conomic
soclety in North-Easlt)rI:lbc:ie s of triba)
a.

®) Q4 oy ey
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